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C. CH OH

C2
5165 CH 4315 3872
2
C2
CH OH
3064 2811 C2 CH
= E | 3 ke | 5 | =] =
-
e
e
! |
Ao Soao so0 oo =on
.ll?:l 354 L] Bl S50 EE0 EOm)
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CHa4

Tth

CH, +2x—— Air — CO, + 2H 0+ 2x 21024
0.2076 0.2076
H20 CHas4
P.10 CHa4 Hi 802.3 MJ/kmol Tth 2200K

2400K
298K

2200K

1x 0.05446 + 2 0,04366 4+ 2x 21924
0.2076

x 0.03332} x (2200-298) = 753.5 [MJ/kmol]

2400K

1x 0.05500 + 2x 0.04454 + 2x 21924
0.2076

x 0.03361j x (2400 298) =842.4  [MJ/kmol]

2200 < T,, < 2400 [K]

802.3—-753.5

x (2400-2200)= 2310  [K]
842.4— 7535

T,, = 2200+
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#* ® H; |% f| 0.000 0.000 285.8 141.8 2418 110.9 | —3=2.7
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4 * & 5 P o000 0000 2966 9.258 2068 ©0.258

— MR | CO |# 1105 | —3.048 2830 10.10| 2830 10.10 | —152

4 & v | CcH, # |=74.84 | —4.665 B90.3 55.51 | B3 S50.01 [ —161.6

= & v | CH: —84.58 | —2.816 1550 | 51.B7 | 1428 | 47.48| —BB.8

+ B s v | H & 1088 | =2 2290 | G0.35 | M3 | 46.35 | —dZ.1

atm [MJ/kmol K]
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1400 CO2, H20
CcO O2, H2 02
2c0, Co+10
+_
= 2 * H, = 283.00MJ/kmol]
- 1 H, =241.8MJ/kmol
H,O H,+=0, 0 q ]
<« 2
Teq
Yy Yy
y [ ]
. oy o B E HO © & &
T [K] | — - ¢ .
| oo ) 016 B 0.3 0. (5 0.10 0,20
w0 | oz 0.2 b2 0.1 0.1 0.1 0.1 0.1
1800 1.1 0.8 07 0.5 0.5 0.4 0.3 0.2
0K 3.7 1.2 2.5 24 1.4 1.2 0.8 0.7
FHK) a5 a.d 5.7 54 | 3.4 2.9 2.3 1.8
400 20,9 18.1 14.7 11.9 7.2 6.1 0.9 3.9
=M | 366 28 b | b | 13.2 11.3 0.1 7.3
TR 54.0 5.9 4.2 35.8 2.5 14,5 15,2 12,3
3000 9, 4 6.6 7.7 0.7 | 8.7 7.8 23,0 15.9
3200 806 76.8 709 4.3 43.0 34,3 32,3 7.0
3400 i7.9 #.1 806 75.2 54.1 48.9 2.2 35,9
CO2 H20
1 2
P =————=0.0941 atm, P,,=————-=0.188 atm
2 1+2+7.63 2 1+2+7.63
2200K CO: y 67 HO y 18
kmol CO2 0.067kmol H20 0.036kmol

CH, + 20, + 7.63N,

—> 0.933CO0, + 0.067CO + 0.03350, + 0.964H ,0 + 0.036H , + 0.0180, + 7.63N,
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CHa4, CO, H2 P.10

CHa4 802.3 MJ/kmol
CcO 283.0 MJ/kmol
H2 241.8 MJ/kmol
2200K
802.3-0.067x 283.0-0.036x 241.8=774.6 [MJ/kmol]
P.10

0.933x 0.05446 0.067x 0.03366 0.0335x 0.03513 1.964x 0.04366

0.036x 0.03147 0.018x 0.03513 7.63x 0.03332)x (2200 298)
753.2 [MJ/kmol]

2400K

802.3-0.147x 283.0+ 0.078x 241.8 = 741.8 [MJ/kmol]

0.853x 0.05509 0.147x 0.03394 0.0735x 0.03544 1.922x 0.04454

0.078x 0.03184 0.039x 0.03544 7.63x 0.03361)x (2400 298)
841.9 [MJ/kmol]

2200 K 2400 K
774.6 MJ/kmol 741.8 MJ/kmol
753.2 MJ/kmol 841.9 MJ/kmol
Teq = 2200+ 774.6-753.2 x (2400 - 2200) = 2235  [K]
(841.9-753.2)— (741.8—- 774.6)

2235 K 1962
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10.0

E mVv T E mVv T

12 0.179 314 0.260 444

11 0.190 33.2 0.290 49.1

10 0.200 34.9 0.580 91.2

9.0 0.700 107.3 156 210.8
8.0 133 184.6 4.70 522.3
7.0 340 400.3 8.80 871.1
6.0 8.70 863.1 132 1203
50 141 1268 17.0 1475
45 16.0 1403 18.3 1568
4.0 174 1503 18.9 1612
35 17.7 1525 19.0 1619
30 174 1503 19.0 1619
25 15.3 1353 18.9 1612
2.0 132 1203 18.9 1612
15 2.50 3109 19.0 1619
1.0 1.30 181.1 19.1 1627
05 1.40 192.7 19.2 1634
0.0 1.87 244.8 19.1 1627

0.290 49.1
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Kaskan
Kaskan

Tt T
Q=hg(T, -T) S

R  Stefan-Boltzmann
R=0 T, 0=56699x10°W-m?.K™

o  Stefan-Boltzman R John Tyndall
R=¢goT?

hS(T, -T)= eoST* —

€ € 0.22
Nusselt Nu Nu
nu=d o N -
k k
Nu Re

Re=U'd U v —_—
1%
c)re)xe)y ()
g0 T4 (Lj X
f 0.8k \Ud
Kaskan v

P.18
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;o B om B Bars . R AN
[K)| (hg+m=*]| (Pa+al (en® = a'] WJe kg K0 (W= m=- K]
x]g=d w 1g=d w01
104 3.55485 7.060 1.982 1.028 8.220
150 2.3673 10.38 4.385 L0111 13.78
20 1. Tdak 13.36 T.662 1006 18.10
250 L4119 16.06 1037 1062 2226
263 13421 16.70 12,44 1.003 23.28
273 1. 2530 120 13.30 1.004 2407
aBa L2473 17.64 Id. 18 LO04 24.86
253 1. 2047 1BLLT i5.08 1.004 25.63
00 L 176G 1884 15.7% 100 26,14
403 1. 1650 1864 L6.00 1. 005 26.37
aia L1277 a8l 18.85 1.008 27.09
iz 1.0a2E 1987 1741 1. 008 27.80
333 L.o&00 z0.02 1a.88 1,067 2881
344 10281t 2047 189,89 1. 008 2zl
150 1. (HES MEl 20,62 1,008 20,70
%3 1. 0000 2091 20080 1004 29.84
163 0BT 2034 21.85 1. 008 54
a7a 09463 20.77 23,08 1,010 a1.28
400( 08825 204 26,00 1,003 33.08
430 0.7844 24093 L8 L.020 3633
500 0LT060 26.82 a37.892 1.028 Jo.51
850 D.E418 HEn 44,56 1,0 AL E0
G0 05483 J0.30 31.50 1.051 45,6
6350 L3l 31.93 SELBOD 1. 053 4540
T 05043 Fa49 B 41 1,07 51, 30
CE1 ] I .98 Ta.32 1.0&7 CER
ChH OddlE J6.43 H2.56 1.0 6.9
B50 04153 17.83 g9i. 10 l.110 59.70
Sap| oI 3a.14 2990 Le2l G250
43l 0L3ATLE 40.48 1ga.n L.13l G4.90
1000 L3530 41L.TT 118.3 1. 14l 87.20
1100)  oF208 44,4 E] [.I60 a2
130 oE4z 46,9 159 LITY T4.2
1300 OLETLS 48.3 1z L. 195 BAT
1406 025N LT 5 L.212 89,1
1540 L2353 S4.0 220 L.230 BAL6
1640 205 56.3 265 1. 248 10a
ive|  ookavs 58.5 a2 L. 266 1065
1B0D 01881 &0, 7 10 1. 284 11
1s00]  Q8sR g2.9 319 L3 1ur
004 QLITGS G5.0 368 L33l 124
21040 0. 1681 7.2 404 1.35% 131
partl i 0. 1605 58.3 432 1302 139
Z300)  0.16536 T1.4 405 141 148
240 Q1471 T35 a0d 1487 161
2500 0.1412 8.7 534 1.586 176
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P.18 v [m2/s]
k[W/(m K]

U[m/s] € Stefan-Boltzmann o [m]

~Q,+Q; 1.06x107°+0.124x10°°

7 p2 60x 2~ x 0.005°
4 4

U

=1.01 [m/s]

D=0.005
£=022

o =5.6699x10"% [W/(m2 K4)]

d =50%x10"° [m]

P.20 13 14 P21
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- ‘bm E— 4511"1 — — h L1m

M [mm] BHOEN [Cll k0B FCll|FHoRE Ccl| k#0RE ['Cl
12 31.4 316 44.4 446
i 332 334 [TX 493
10 34.9 35.1 912 016
5.0 107.3 107.7 2108 2118
B0 184.6 1854 522.3 528.5
1.0 400.3 4037 B71.1 8943
6.0 B3I B85.7 1203 1261
5.0 1268 335 1475 1580
45 1403 404 1568 1694
4.0 1503 614 1612 1748
35 1525 1641 1619 1757
3.0 1503 614 1618 1757
25 135 434 1812 1748
2.0 1203 261 1612 1748
1.5 3109 312.9 1619 1757
1.0 181.1 181.9 1627 1767
0.5 192.7 193.6 1634 1776
0.0 7448 2461 1627 1761

13 14 P21
600 1
1000 1600 8.5
1962
1770
200
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1600
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— 1200

~ 1000
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600
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200

13 Kaskan

4.0mm

1800
1600
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— 1200
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SL
S . =Usné -
U
.+
U= Qur *Quo _ 1.01 [mi/s]
a2 D?
4
Qair quel D
15
0
P.5 (@)

8 15 (b)) 6 10
(), (b)
6 125 U o
S, =Usind=1.01xsin12.5=0.218 [m/s]
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SL=0.37 m/s
P.15
322 [K] 295 [K]
P.18 323 [K] p 1.0928 kg/m3 293 [K] p 1.2047 kg/ms3

p 1.1488 kg/ms3 16

2° 17

i A

90

¢y _

16 17

Navier-Stokes
ou ou 1 op o’u o%u
Uu—+v—-= V| —+—
X oy p X x> oy®
ov ov 1 op o°v 0%
U—+V—=———+V—+—
ox oy p oy ox° oy
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0
ox oy
au av
6x 6x
D D
—_—, —— u=0 D
2 2
2
4o Lp(D7
2u dx| 4
18
1
_ — 3
s | B f
M, e R
18

Q

Q= IIAudy- ydd

24
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dp T ? Aru
&S ——= 472' — D2 = A
dx ﬂQ/ ( 4 ) A’ i
Q Q=AU = const 12
u=21 (1— a y2] 13
Ap
18
li Bender
l. =0.0566Re d d, Re, 14
14
|, =00566x 22X0995 4 505 0.0866 [m]
X
17 P.23 0.09 m |i <l
11 13
19
|
|
1 o
A N\,
- / AN
E / N\
> / A\
/ N\
/ N\
r [mm]
19
p.5
p.22 S. U sin@
20
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20

21

ADRLIS &

' FRIEE U,
e .,
[ (&g
H A,
20 21
20 UAp Ar
Ar Sur
A
Sur = Uu =
A
15 16 17
5 -2,
A
Ar
22 p.27
Ar
A =":’T”-1oo;z><1o6 =7.85x10° [m2]
7T
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Q

5

A =ZD?= %x 0.0052 =1.96x10°° [m?]

4
Sur 16
S, =U, ﬁ =1.01x 196 _ 0.253 [mi/s]
A 7.85
SL
0= Sin-l(ij =14.6°
U
p.5 a 6 15
10 22
8 14 15
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A7

Tmax 1776 [ ]

28

Sur

Teq

1962 ]

SL

p.22

p.20



